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BT No. K £/ F—LA BES 544 byTE FHEE
7777777 1 177ﬁm§—EB*§ﬂU—‘f§E§ 90 4:.00:55.60 0:.00 38.10 km/h
2 2 mER- s 0 4005650 000 38.10km/h
3 0 mmoER suws 90 4005812 002 3809 km/h
4 s mmE 0 4005625 002 3809 km/h
5 s mEA —— 90 4005853 002 3809 km/h
6 1 Amz seoRze/ Tou % 4005888 003 3609 km/h
7 7 mmoxm s ps— o 0 4005698 003 3809 km/h
8 169 Wk A s % 4010082 005 3808 km/h
o 175 dmm omEm Garama e 8 4021357 -1Lap 3747km/h
10 8 pmam 88 4024869 2 Lap 3696 km/h
w2 omES 87 4015112 -3Lap 3669 km/h
12 7 pmE o 85 4021227 -5Llap 3579 km/h
13 o1k ommomm o 83 4003672 7 Lep 3518 km/h
4 o méER 83 4004162 -7Lap 35.17km/h
5 42 mmE® 83 4024472 7Lap 3487 km/h
6 1 wREe 82 4004550 -8 Llap 3474 km/h
17 tes m® mA Baxs 97557 82 4013850 -8Lap 3461 km/h
4 130w EM soace zeropon B 4020692 -8 Lap 3454km/h-
IR — 81 4000895 0Lap 3440 km/h
0 w0 mA®A memvony 81 4015137 -9 Lep 3416 km/h
o e mI-o 80 4000672 -10 Lap 33.98 km/h
o 4 mmeE rww 79 4020751 11 Lap 3328 km/h
2 15 mO ®A o 79 4021401 -1 Lap 33.26 km/h
4 02 wmmm 78 4012803 -12 Lap 32.95 km/h
s o mmgr wo 78 408:35.99 12 Lap 3266 km/h
6 15 aw s 71 4022281 -13 Lap 3240 km/h
oy ow mu#-w 75 4015925 15 Lap 3161 km/h
R 74 4004067 -16 Lap 31.36 km/h
9 66 we wE 74 4024161 -16 Lap 3110 km/h

0 156 BB xR - 73 3281292 17 Lap 3576 km/h
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[VHFILR] (2/3x—9)
AT T21—0 BF-O0—K-vA 2o 3000

JIEHL  No. E &% / F—L%A BRI 544 byTE FHEE
777777 31 179 HHFBM 0 WEer 73 4:00:08.27 -17 Lap 31.00 km/h
3 121 mAk A® sAKEAEH A 73 4021351 17 Lap 3073 km/h
33 te4 me EE 72 3545589 18 Lap 3126 km/h
a4 s mEKm mnmE 72 4011149 -18 Lap 30.44 km/h
35 103 EAHE ovoL wrones 71 400:16.78 -19 Lap 30.13 km/h
3 173 e O 71 4015931-19Lap2992km/h
37 13 R E— e-nmaREs 70 4005490 20 Lap 29.63 km/h
38 132 WR e HER 70 4020881-20Lap2948km/h
39 125 BB @A ATRUBRTBE BEED 70 4032640 20 Lap 2932 km/h
40 115 XE @R e 69 400:41.00 21 Lap 20.24 km/h
41 154 w|A ®FO Ritz cycle racing 68 4021228—22Lap2863km/h
42 w4 mBEX 68 4:02:48.34 -22 Lap 28.56 km/h
4 i m®EE 68 403:4137 22 Lap 2846 km/h
a4 116 KmoEB e 67 40027.12 -23 Lap 28.42 km/h
45 135 mmoAM 67 4022661 23 Lap 28.18 km/h
46 118 NE Bz xumHIL~7 66 4011179 ~24 Lap 27.01 km/h
47 el mWoER . 65 401:17.00 ~25 Lap 2747 km/h
48 130 et@m 64 400:3384 26 Lap 27.13 km/h
49 a1 @O omA - 64 4014008 -26 Lap 27.01 km/h
5 106 —%E 77777777777777777777777777 EMﬁiﬁﬁﬁﬁi% 64 4015874—26Lap2697km/h
- 51 158 ) FEC 63 4021256—27Lap2653km/h
52 150 @mm @z conmenmn 62 4001629 28 Lap 2632 km/h
53 45 mEEBA 61 4031125 -29 Lap 2558 km/h
54 122 na oz osoe 61 4033384—29Lap2554km/h
55 153 i) - A O 60 4011182-30Lap2537km/h
56 167 Hm A- e-us iR 59 403:0069 -31 Lap 2476 km/h
57 120 mmE® 58 2:37:3532 32 Lap 3754 km/h
58 60 ®wxE 57 400:5847 -33 Lap 24.12 km/h
59 137 Bm @z xemHIL—T 56 401:56.55 ~34 Lap 23.60 km/h

60 168 WO XE 54 4040006 36 Lap 2257 km/h
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[VHFILR] (3rax—9)
AT T21—0 BF-O0—K-vA 2o 3000

IEGL  No. K % /.  F—L% BAE# 24L byTE FEHEE
777777 6 1124§$|‘-ﬁ 51 3:48:18.84 -39 Lap 22.78 km/h
e o mHER 51 4030591 -39 Lap 2139 km/h
e 1w EEER IR — 49 £020057 -41 Lap 2065 km/h
e o me R - 46 3541141 44 Lap 2003 km/h
e s mEE . 45 4005435 45 Lap 19.05 km/h
e 14 e wER e 44 £020877 -46 Lap 1853 km/h
e 105w oEE — 44 4050712 46 Lap 18.30 km/h
e 46 mEam e 42 3493471 -48 Lap 1866 km/h
e 150 wmfE - 40 4002486 50 Lap 1697 km/h
0 2 xksm ——_— 33 3493477 57 Lap 1466 km/h
9 19 amE o7 30 3141376 60 Lap 15.75 km/h
T 23 1221250 -67 Lap 2853 km/h
s o0 memE e 6 214425 -84 Lap 2815 km/h
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